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1. Which one of the following statements is TRUE?

( A) The classical economists emphasized the short-run effects of shifts in aggregate
demand on aggregate output, whereas Keynes focused on the long-run determination
of the aggregate price level.

(B) A positive balance on financial account is a financial account defieit.

(C) Anincrease in the money supply lowers the equilibrium rate of interest.

(D) Aggregate demand will shift to the right, if the aggregate price level increases.

9 Which one of the following statements is TRUE?
(A) Inmonopolistic competition each firm produces a standardized product.
(B) Price elasticity of demand measures the responsiveness of the change in the
quantity demanded to a change in price.
(C) Indifference curves farther away from the origin have lower levels of utility.
(D) Oligopoly is a market structure characterized by independence in decision

making.
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9 John consumes two commodities x and y. His utility function is min {x+2y,y+2x}.
He chooses to buy 10 units of good x and 20 units of good y. The price of good x is 1.

John’s income i8
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6.You are about to have a meeting with your manager about a raise in your salary.
You are going to request an increase of $5,000, but you believe the probability of
success to be only 0.25. You believe there is a 0.25 probability your boss will counter
with a $3,000 raise in your salary, and you believe there is a 0.25 probability that your
boss will offer a $1,000 raise in your salary. Finally, there is a 0.25 probability that
you will receive no increase in your salary. What is the expected value of the outcome

of your meeting?

7.If a country has a working-age population of 200 million, 135 million people with
jobs, 10 million people who were looking for a job but have given up, and 5 million
people unemployed and seeking employment, then its labor force is_ (a)  million ;

its number of discouraged workersis__(b)  million.
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